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: __.?Enw of En .mu=o.&w=m statements is correct about national saving ?

PP .“mu. When the. : government purchase is increased and _.Egznﬂ_ by increasing tax, then

n_n desived national saving will increase. ]
(B}. Wihen a vax cut is accompanied by future tax increase, then according to Ricardian
) équivalence the national saving will more ar Jess slay \he same.
@_,,._."..ﬁwns the amount of investment is increased, national saving will be reduced.
-(d). Fiscal policies will not affect national saving.
(&), None is corect.

w.d.ﬁ_mnw_ 'of the following staternents is cormect about investment decisions ?

“(a); Anincrease in interest rates will reduce the %&ﬁ_ capital stock and in um

Teduce the investment.
(b} An incresse in depreciation rate will increase the user cost and in wm increase
... the investment. .
(¢, A jump of marginal productivity of capital wili reducc the need for capital
stock and hence the investment.
{d). An increase in investment tax eredit will increase the lax-admsted tger cost
of capital and reduce the invesiment.

3.A compuler store purchased $100,000 of computer parts produced this year. At the

' end of this year it has installed the paris of $80,000 value in the complters,

which were then sold oot with the value of $320, 08 Then

(a). The total contribution o GDF from this store is 140,000,

) .?w change in consumption from the above description is $220, 000,
{c). The change in invesunent from the above description s $20,000.

. {d). The siore’s value added is $60,000.

(&), None is comect.

4, Which event will certainly cause an increase in full employment Jevel and a decrease
in real wage ?

(2). An increase in oil price.

{b). the introduction of foreign labor into Taiwan.

{¢), echnological improvement.

{d). Enterprises become more confidest towards future ceonomic condition,

(&), none of the above events.

3.Which of the following Stalements is carrect abont national wealth 7

- {2). When the prices of the domestic stock market increase, the national wealth increases.

(b). When companies increase their wu.._nm:daaﬁ by bomowing from abroad, the
" national wealth inciehses.

=7 (o). Whien thiFcentral bank inoréasés it foreign reserve, the netional wealth increases.
P, aﬂﬁ:gﬁu is, n:qnuﬁmnnoﬁ_..namn: the national wealth increzses.

fe). All of Ens.,

6.Which of the following chanpes wil}

be least likely to cocur for a badly hurt econom
after the East Asian financial crigis 9 ’

{a). The conency-deposit tatio will InCreass,
(b). The reserva-deposit ratio will incrcase,

(c). The nosminal money demand 5: increase, -

{d). The nominal money supply will increage,,
{e). All of the above,

7. Which of the following staterments is correct about the money BEEHEH 7

{a} If bank rans oceur, thex the meney multiplier will increase.

(b2 In Indonesia, the current tnoney multiplier is smalter than that before the Bast
gsigit financial crisis.
{c). the money tmultiplier will increase when high inflation exists,

(d}. The central bank can not affect the' vilte of the money multiplier,
(e). All are correct,

Please answer guestion 8 1010 with the following production infornation

the.production function is Y=AK™ M K is cani j i
. pital stock, M is labor, Y
A=10 and K=100 . e

Labor supply function is

N OB . -
s nominal wage, P is price level,

-::ié

1
2

8. What is the full employment Jevel of employment 7

(a), _2. 30..
& N =40,
{ N =50
. N = 100.

(e). None is comect,

3 What is the full employment Jevel of E&ann Y7
(a). Y=100

(b). ¥Y=s00.

(e Y=1000,

(d). Y=40( 5%

). Y=100(10)"*

1QIf this country E...BM. 44 unit capital this year, then what is the new full naumov.ana
level Wm ﬂﬁ_cwagﬂ.? ? Assume there is no depreciation,
@ N =30
®. N =100,
©. N =120,

N TP




HLFRREAFNSEFRELNSRAE

{E
e

2 H B2 H

1

EREFER A

e

E

:m#ﬁﬂﬂmﬂﬂﬁﬁmc? ¥ ﬁ%xﬁ%.&.@@@%ﬁﬂ.ﬂ&ﬁﬁ%ﬂ - RS
REXTY BT EES - HER o (8 x LFEFHGRD By THRIEHER -

(A) SOV MG EEEIEEN a - b e
(B) 1R a > b - B X TRt AR ¥ 09RHEEE
© MEER .

) L

2 ASEARESU, (2.y) =x+y » BAPKAERAU, (x.¥y) = (x+y) 2 R

(&) 8399 A FTB 7 SCRINRERIEINSE 21

() 2 AT BARIHMER - MEENETLIMER - MSERRANE » 1 AN B @RI
E i

©) R ATIBEEERR - MUNE—-RESTIT « ATRAENANYTH

© DAL

B -ERSERNE - e RRERA SR LSRR MR ek
TR (O AR - PEESEN) - EREERQ, WO BTSSR
FUE ¢ f0n,) AR (o q) I BIQ,~n, - g, Q=0, 0,

) : %

{8) 4,<qp " N <N,

B) a.<dyr n,=D P 5
) n_w.".ﬂe.rnu.n:.v

[O) dmEpily L >
E) LEmE . . 0 Q O Q

BETER

14,2550 » B5E 4 BERT IR A (RS ot el R I e R A

(A} SERmAREMERISRATRER A
(@) oo R AR AR + R
(C) 2P TN shut-down S {irE e b1
D) BALIE “
€ M2k

15 R BT SRR, - NS ARG T R T

W ﬁmﬁﬂﬁmﬁmﬁmﬁ%ﬁﬁ_
@) ﬁ%ﬂ%ﬂﬁ%ﬁ%&ﬂ&ﬁﬁ
© s

D) Bt gk

16 EREE 48 X mSBY mwmﬁng%sags qrﬁwﬁ.ﬁhﬁaﬁﬁﬁ x Y s
FEARZESEA « BUSE X A050s 7 B A ifeaeomey «
(4) PELAHRSHAHTY ¥ LR T
(B) RIGRRAEA - ERME X 0UEE LI F—2ases X tes
) LLERsE
D) Bl &3k

MR XWHBER A - BHICL ) RiE%s W REERSFIFS Pi00+2g, » P<iSt+3g, .
1 P=iGhdg, » Kb, a:ﬁ IR 3 A AR - Eﬁ_& X SRR R e s
= FHLLQ mﬂaﬁﬂwﬁu

18 TFIGE - ARIERE?

(&) mWﬁﬂ_&.ﬁEﬁﬁﬁﬁm&ﬁﬁﬁﬁlﬂgﬁﬁﬂﬁﬁﬁhmﬂﬁﬁﬂa&“&mﬁﬁ

(B) BHARERE A AT . & — TR R R R S TR TR 3 143 L St ine astic)
BYRNT - EERET B LEER R

C) ERERNTBEEARR0 TSRS R S T N IS B R IR Ty
BT Bl ]

(o Ll EE3E

DEREOEERSSE Q=LK' Le@fv - KRR 1 - EEaird e
B K Byt s

2045 X SRS - SEREE | R0 2 AR - BRI P —10004Q » B | SRR

FEEETC =13, % S L MERAEME T Cla)=1542q % » Rdiq, fq,
SRIERET 1 028 IS Coumot ST TS LBIER o, B




	MA01_88_1
	MA01_88_2

